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B.Com. (Part—III)

Term End Examination, 2021-22
MANAGEMENTACCOUNTING (Paper—II)

Fle : 75 g5 F F0¢ AAT | FH TN F AF qHAZ
Attempt all questions. All questions carry equal marks.

[EHE-1 / Unit-I]

1. Tl fraeor & ar anyrg ¥ ¢ gaeT wefa od gdva i aviE Fifaw

What 1s meant by Financial Statement ? Discuss their nature and objects.
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Following are the ratio of trading activities :
Recervable Turnover 4, Payable Turnover 6, Inventory Turnover 8, Capital Turnover 2, Fixed Assets
Turnover 8, Gross Profit Ratio 25%, Gross Profit during the year was T 80.000. Reserves and surplus

T 28,000. Closing mventory of the year 1z T 2000 above the opening inventory. Bills receivables
T 5000 and Bills payables ¥ 2000. Prepare Balance Sheet.

[ZHTE-II / Unit-II]

2. iz v fqaeer wn ® 0 gad e seanT aur g wr E

What 1s Cash Flow Statement ? What 15 1ts main uses and limitations ?
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Prepare a Funds Flow Statment from the following data of ABC Litd :

31 March

Particulars 2021 ®) 2020 F)
Cash 83 440 46520
Trade recervables 1.26.500 1.81.700
Allowances for Bad Debts 17.500 18,600
Inventories 238,750 2.46. 400
Furniture and Fixtures 1,75,000 1.20,000
Truck 1.90.000 1.15.000
Accumulated Dep. on Truck 45.000 30,000
Trade Payables 2.21.220 1.92_ 800
Capital 5.00,000 5.00,000
Retamed Earning (+) Profit

(-) Loss (+) 29,970 (-) 31,780

A dividend of ¥ 50,000 was paid in 2020-21. Depreciation on furniture and fixtures amounted to
12,000 1n 2020-21. It was credited to that assets account.

[EHIE-I1I / Unit-III]
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The cost of Production of 1000 units 1s given below : 4
Materials 20,000
Labour 10,000
Over heads (60% Fixed) 20,000
Find out Margmal Cost in total and per unit and test the equation TC=VQ +F.
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Following data relate to *X’ pvt Ltd. :
Sales 16,000 umts @ T 15

Variable Expenses

Contribution

Fixed Expenses

Profit

(1) Find Break even Point.

(3) AJ-1237

z
2.40.000
1.92.000
48.000
36.000
12,000

(11) What sales are necessary to result a net profit of ¥ 15,000 the income tax being 25% ?
(111) What should be the selling price per unit it break even point 1s brought down to 10,000 unit ?
(1v) What will be the break even point 1f 10% increase effected in selling price ?

[FHE-IV / Unit-IV]

4. Fach faE F B 2 saE ggsed adr el B aAEd |
What 1s Budgetary Control ? Point out its objectives and advantages.
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The expenses budget for production of 10,000 units 1n a factory are furnished below :
Particulars Per Unit (3)

Materals 70

Labour 25

Variable overhead 20

Fixed overhead % 100,000 10

Variable expenses 5

Selling expenses 10% Fixed 13
Distribution expenses 20% Fixed T
Admimistrative expense T 50,000 5

Total Cost T 155

[FHE-V / Unit—V]
5. ““feeror fagseor yag ofteqg w1 U sifieT ST B (7 e #itead |

“Variance Analysis is an integral part of Standard Costing ™ Explain.
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(4)
Frfeiaa faeeer & |t feedt 7 ToEr i qur s geey q At
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(Rear) (?) (Fem) ()
A 50 6.00 40 6.00
El 40 3.75 50 3.60
il 30 3.000 40 2.50
120 150
From the following particulars, calculate material variance and give their relationship :
Standard Actual
Material | Quantity Price Quantity Price
(Kg) ) (Kg) )
A 50 6.00 40 6.00
B 40 3.75 50 3.60
C 30 3.00 40 2.80
120 130

16,500



